
IG681−2A, 51

Farbmetrische Transformation i = 4
c*i  = c*4  = a c*b mit a = 0,75; b = 1,00

rgb −> cmy0* olv* −> cmy0*4



IG681−2A, 52

Farbmetrische Transformation i = 4
c*i  = c*4  = a c*b mit a = 0,75; b = 1,00

rgb −> cmy0* olv* −> cmy0*4



IG681−2A, 53

Farbmetrische Transformation i = 4
c*i  = c*4  = a c*b mit a = 0,75; b = 1,00

rgb −> cmy0* olv* −> cmy0*4



IG681−2A, 54

Farbmetrische Transformation i = 4
c*i  = c*4  = a c*b mit a = 0,75; b = 1,00

rgb −> cmy0* olv* −> cmy0*4



IG681−2A, 55

Farbmetrische Transformation i = 4
c*i  = c*4  = a c*b mit a = 0,75; b = 1,00

rgb −> cmy0* olv* −> cmy0*4



IG681−2A, 56

Farbmetrische Transformation i = 4
c*i  = c*4  = a c*b mit a = 0,75; b = 1,00

rgb −> cmy0* olv* −> cmy0*4


